S
SCEGGS Darlinghurst

Year 9
Common Test

Tuesday 8" September, 2009 -

athematics
Pathway 5.3+

General Instructions

e Time allowed — 1 hour

e Carefully read the instructions
¢ This paper has three questions
‘Write your name on every page
e Aftempt all questions

¢ Calculators may be used -

Show all your working in the spaces provided for each question - e o P : N
Marks may be deducted for careless or badly arranged work

Name: .:

SCEGGS DARLINGHURST

Teacher: ...

Year 9 Common Test 2009

Question 1 Marks

a) Solve the following equations:

i 3x—1:£ ‘ . 3
4 2

‘ ‘ / .
, b) Solve and graph on a number line;

i. 5a—3>2a+12
|
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2- Coordinate Geometry 26
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Question 1 (cont.) ) Marks

Question 2

iii.  If five is subtracted from twice a number, the result
is the same as when four is added to the number.

a) What is the equation of a line with gradient 3 and
Form an equation and solve it to find the number. 3

y intercept -1? e

~

b) Graph the lines x=2 and y=-1. What is their point
of intersection?

c) Are the lines 2x-y+6=0 and 2y=x+3 parallel? Give
reasons for your answer.

d) Find the x and y intercepts of the line 3x-4y+12=0.

¢) Find the eqiiation 5% line passing through (2, 1) with
gradient 3. Express your answer in gene%form.
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Question 2 (Cont.) Marks

f) Inthe diagram below, the line shown cuts the x axis
atL (-4, 0) and the y axis at M (0, 3). N is a point on
the line and P is the point (0, 8).

i.  Find the equation of the line LM.

ii. Show that the point (16, 15)\lies on the line LM. 1
|
iii. Findthe length of ML and MP. What sort of 3
triangle is ALMP?
If M is the mid point of the interval LN, use the

iv.
mid point formula to show that the coordinates of
N are (4, 6). -

2

Question 2 (Cont.)

-

Find the gradients of lines PL, and PN. What

V.
sort of an angle is £ LPN ?

vi. Find the area of ALPN.
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Question 3 Marks

a) Find the values of x and y in the figure below. 2

b) Find the value of x in the figure below. 2

107° /
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Question 1 Marks
a) Solve the following equations:
. 3x-1 x
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i Tm—(6m-9)=5

b) Solve and graph on a number line:

i 5a-3>2a+12 5
+2 3

Ba > g 115
-2  ~la S A = &

Ao v 15 i T me_w_‘f%».ﬂr)
T3
{9 5 [ v/
i 4-2x-4)=3
S X+ f 9 .
j =L

4 .4 - i o] 1 92 2 ES =

2 1% > ¢ . o
~ % - % =
Xy o~ 4 v

L.
-1 -2 7/

m G




Question 2 Marks

Question 1 (cont.) Marks
iii.  Iffive is subtracted from twice a number, the result a) What is the equation of a line with gradient 3 and 1
is the same as when four is added to the number. y intercept -1? ; '
Form an equation and solve it to find the number. 3 T T
14 = 23 ~ |
“ -
21 5 =X 1A b) Graph the lines x=2 and y=-1. What is their point 3
S GEPEN -3 5 v of intersection?
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¢) Are the lines 2x-y+6=0 and 2y=x-+3 parallel? Give 3
reasons for your answer.
230~Y v 65 O 2\4“1*3
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d) Find the x and y mtercepts of the line 3x-4y+12=0. 2

L-indercept = 3~ 4%0 +12=0
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e) Find the eqation 5fh line passmg through (2, 1) with 3

gradient 3. Express your answer in gex:?(orm.
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Question 2 (Cont.)

Marks
f) Inthe diagram below, the line shown cuts the x axis
at L (-4, 0) and the y axis at M (0, 3). N is a point on
the line and P is the point (0, 8).
Ve
#(0,8)
(4 IJ"B
[
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i.  Find the equation of the line LM. &
= 2O L _B(gadient)
o--% %t

U= B =Yg (x o) =upB ¥

ii.  Show that the point (16, 15) lies on the line LM. 1
WY = 2j4x +3%(16,15)
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iii.  Find the length of ML and MP. What sort of 3

triangle is ALMP? _ '
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iv.  If M is the mid point of the interval LN, use the 2
mid point formula to show that the coordinates of p
N are (4, 6). . 5 G
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Question 2 (Cont.)

Marks

v.  Find the gradients of lines PL and PN. What 3
sort of an angle is £ LPN ?
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Question 3

a) Find the values of x and y in the figure below.

w= 1807 427 ¢’
A= 807 (attemnede ¢s
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b) Find the value of X in the figure below.
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